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Assignment #4: Non-Random Mating

[A4-1] Selfing

[A4-2] deCODE
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Calculated the frequency of selfing based on 
the genotype frequencies below for a population 
at equilibrium that engages in mixed-selfing and 
outcrossing.

Genotype A1A1 A1A2 A2A2

Frequency 0.828 0.144 0.028

Assignment [4-1]: Selfing
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These findings seem to contradict our assumption that higher levels 
of inbreeding would results in a decrease of fitness. Try to find a 
possible explanation.

Assignment [4-2]: deCODE
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F = 1− Ho

He

= He − Ho

He

p = 0.828 + 1
2
0.144 = 0.9

q = 1− 0.9 = 0.1
→ He = 2pq = 0.18

FI =
0.18 − 0.144

0.18
= 0.2

→ Ho = 0.144

Genotype A1A1 A1A2 A2A2

Frequency 0.828 0.144 0.028

observed Heterozygosity

expected Heterozygosity

5

Assignment [4-1]: Selfing
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Assignment [4-2]: deCODE

← link to full article

https://abcnews.go.com/Health/ReproductiveHealth/story?id=4258128&page=1

